Transfers Report

This report contains the transfers results.

Contest Name	Ward 3 - Tranent Wallyford and Macmerry
Valid Votes	5,984
Positions to be Filled	4
Quota	1,197

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Fiona DUGDALE	Scottish Labour Party	1,437
Jimmy HADDOW	Scottish Trade Unionist and Socialist Coalition	57
Hazel HAMILTON	Alba Party for Independence	51
Gordon MACKETT	Scottish Conservative and Unionist	804
Colin MCGINN	Scottish Labour Party	1,290
Kenny MCLEOD	Scottish National Party (SNP)	1,307
Lee-Anne MENZIES	Scottish National Party (SNP)	666
Marnie STIRLING	Scottish Greens - Think Global Act Local	245
Elisabeth Mary WILSON	Scottish Liberal Democrats	127
	Total	5,984

Candidate Fiona DUGDALE Elected with 1,437 votes, being in excess of the quota of 1,197 Candidate Colin MCGINN Elected with 1,290 votes, being in excess of the quota of 1,197 Candidate Kenny MCLEOD Elected with 1,307 votes, being in excess of the quota of 1,197

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Fiona DUGDALE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jimmy HADDOW	94	0.16701	15.69894
Transfer to Hazel HAMILTON	20	0.16701	3.34020
Transfer to Gordon MACKETT	205	0.16701	34.23705
Transfer to Lee-Anne MENZIES	135	0.16701	22.54635
Transfer to Marnie STIRLING	126	0.16701	21.04326
Transfer to Elisabeth Mary WILSON	190	0.16701	31.73190
No further preference	667	0.16701	111.39567
Not transferred due to rounding			0.00663
	Total		240.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Kenny MCLEOD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Hazel HAMILTON	13	0.08416	1.09408
Transfer to Gordon MACKETT	12	0.08416	1.00992
Transfer to Lee-Anne MENZIES	1,114	0.08416	93.75424
Transfer to Marnie STIRLING	40	0.08416	3.36640
No further preference	117	0.08416	9.84672
Not transferred due to rounding			0.00288
	Total		110.00000

Transfers Report

This report contains the transfers results.

93.00000

Stage 4 - Surplus of Colin MCGINN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jimmy HADDOW	90	0.07209	6.48810
Transfer to Hazel HAMILTON	16	0.07209	1.15344
Transfer to Gordon MACKETT	161	0.07209	11.60649
Transfer to Lee-Anne MENZIES	117	0.07209	8.43453
Transfer to Marnie STIRLING	78	0.07209	5.62302
Transfer to Elisabeth Mary WILSON	109	0.07209	7.85781
No further preference	719	0.07209	51.83271
Not transferred due to rounding			0.00390
	Total		93.00000

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Hazel HAMILTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jimmy HADDOW	9	1.00000	9.00000
Transfer to Gordon MACKETT	1	1.00000	1.00000
Transfer to Lee-Anne MENZIES	24	1.00000	24.00000
Transfer to Marnie STIRLING	4	1.00000	4.00000
Transfer to Gordon MACKETT	4	0.16701	0.66804
Transfer to Marnie STIRLING	1	0.16701	0.16701
Transfer to Lee-Anne MENZIES	10	0.08416	0.84160
Transfer to Marnie STIRLING	1	0.08416	0.08416
Transfer to Jimmy HADDOW	4	0.07209	0.28836
Transfer to Gordon MACKETT	2	0.07209	0.14418
Transfer to Lee-Anne MENZIES	1	0.07209	0.07209
Transfer to Marnie STIRLING	2	0.07209	0.14418
No further preference	13	1.00000	13.00000
No further preference	14	0.16701	2.33814
No further preference	2	0.08416	0.16832
No further preference	5	0.07209	0.36045
Not transferred due to rounding			0.00000
	Total		56.58772

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Jimmy HADDOW

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon MACKETT	7	1.00000	7.00000
Transfer to Lee-Anne MENZIES	10	1.00000	10.00000
Transfer to Marnie STIRLING	16	1.00000	16.00000
Transfer to Elisabeth Mary WILSON	7	1.00000	7.00000
Transfer to Gordon MACKETT	8	0.16701	1.33608
Transfer to Lee-Anne MENZIES	4	0.16701	0.66804
Transfer to Marnie STIRLING	7	0.16701	1.16907
Transfer to Elisabeth Mary WILSON	8	0.16701	1.33608
Transfer to Elisabeth Mary WILSON	2	0.08416	0.16832
Transfer to Gordon MACKETT	4	0.07209	0.28836
Transfer to Lee-Anne MENZIES	4	0.07209	0.28836
Transfer to Marnie STIRLING	5	0.07209	0.36045
Transfer to Elisabeth Mary WILSON	13	0.07209	0.93717
No further preference	26	1.00000	26.00000
No further preference	67	0.16701	11.18967
No further preference	3	0.08416	0.25248
No further preference	68	0.07209	4.90212
Not transferred due to rounding			0.00000
	Total		88.89620

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Elisabeth Mary WILSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon MACKETT	40	1.00000	40.00000
Transfer to Lee-Anne MENZIES	9	1.00000	9.00000
Transfer to Marnie STIRLING	29	1.00000	29.00000
Transfer to Gordon MACKETT	40	0.16701	6.68040
Transfer to Lee-Anne MENZIES	9	0.16701	1.50309
Transfer to Marnie STIRLING	27	0.16701	4.50927
Transfer to Gordon MACKETT	1	0.08416	0.08416
Transfer to Lee-Anne MENZIES	1	0.08416	0.08416
Transfer to Marnie STIRLING	4	0.08416	0.33664
Transfer to Gordon MACKETT	23	0.07209	1.65807
Transfer to Lee-Anne MENZIES	4	0.07209	0.28836
Transfer to Marnie STIRLING	24	0.07209	1.73016
No further preference	56	1.00000	56.00000
No further preference	123	0.16701	20.54223
No further preference	2	0.08416	0.16832
No further preference	73	0.07209	5.26257
Not transferred due to rounding			0.00000
	Total		176.84743

Transfers Report

This report contains the transfers results.

332.53362

Stage 8 - Exclusion of Marnie STIRLING

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon MACKETT	20	1.00000	20.00000
Transfer to Lee-Anne MENZIES	154	1.00000	154.00000
Transfer to Gordon MACKETT	18	0.16701	3.00618
Transfer to Lee-Anne MENZIES	30	0.16701	5.01030
Transfer to Gordon MACKETT	1	0.08416	0.08416
Transfer to Lee-Anne MENZIES	25	0.08416	2.10400
Transfer to Gordon MACKETT	11	0.07209	0.79299
Transfer to Lee-Anne MENZIES	20	0.07209	1.44180
No further preference	120	1.00000	120.00000
No further preference	113	0.16701	18.87213
No further preference	19	0.08416	1.59904
No further preference	78	0.07209	5.62302
Not transferred due to rounding			0.00000
	Total		332.53362

Transfers Report

This report contains the transfers results.

Stage 9 - Exclusion of Gordon MACKETT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lee-Anne MENZIES	66	1.00000	66.00000
Transfer to Lee-Anne MENZIES	48	0.16701	8.01648
Transfer to Lee-Anne MENZIES	5	0.08416	0.42080
Transfer to Lee-Anne MENZIES	41	0.07209	2.95569
No further preference	806	1.00000	806.00000
No further preference	227	0.16701	37.91127
No further preference	9	0.08416	0.75744
No further preference	160	0.07209	11.53440
Not transferred due to rounding			0.00000
	Total		933.59608